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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Given that HCF (306,657)=9. Find LCM

(306,657)

o Watch Video Solution

2. In polynomial z* + 7z + 10. if , B are its

zeros then find a + 8 and ap.

o Watch Video Solution



https://dl.doubtnut.com/l/_mDU3UsH3igzx
https://dl.doubtnut.com/l/_KBuZzr6Oh9DC

3. Q. For what value of k will k+9, 2k-1 and 2k+7

are the consecutive terms of an A.P.

o Watch Video Solution

4.The cost of 2 kg of apples and 1kg of grapes
on a day was found to be Rs 160. After a
month, the cost of 4 kg of apples and 2 kg of
grapes is Rs 300. Represent the situation

algebraically and geometrically.

o Watch Video Solution



https://dl.doubtnut.com/l/_RAals2LtHFQF
https://dl.doubtnut.com/l/_2OO6AnwyKGRT

5. Find the distance between two parallel

tangents of a circle of radius 3 cm.

o Watch Video Solution

6.1n a simultaneous toss of two coins, find the

probability of getting: exactly one head

o Watch Video Solution



https://dl.doubtnut.com/l/_2OO6AnwyKGRT
https://dl.doubtnut.com/l/_9hntAZlWsiYB
https://dl.doubtnut.com/l/_FXhx5vtj2HAv

1. Use Euclid's division algorithm to find the

HCF of 455 and 42.

o Watch Video Solution

2.Find the zeros of the polynomial z? — 3 and

verify the relationship a + 8 = — L if a, B
a

are its zeros.

o Watch Video Solution



https://dl.doubtnut.com/l/_6LluD7RWosRm
https://dl.doubtnut.com/l/_oqjT0O1Ozfhw

3. Find the roots of the equation

x+Jr—2=4

o Watch Video Solution

4, In AABC, right angled at
B, AB = 24cm. BC = Tcm. Determine

sin A.

o Watch Video Solution



https://dl.doubtnut.com/l/_l1c7Wb56X6rs
https://dl.doubtnut.com/l/_irel3hJi9lqp

5. In AABC, right angled at B. |If
1

tan A = —, find the value of
V3

sin A. cos C 4+ cos AsinC.

° Watch Video Solution

6. In Fig 1, a square of diagonal 8 cm is

inserted in a circle. Find the area ol the shaded


https://dl.doubtnut.com/l/_zR4Yy97hQorL
https://dl.doubtnut.com/l/_4glklemUpzFG

region.

;I;ZW/%. N

° Watch Video Solution

7.Prove that 3 — /b is an irrational number

° Watch Video Solution



https://dl.doubtnut.com/l/_4glklemUpzFG
https://dl.doubtnut.com/l/_CFznA8nmASUZ

1. If a and B are the zeros of the quadratic
polynomial p(s) = 3s* —6s +4 , find the

1 1
valueofg—i—é—i—Z — 4+ — ] +3ap.
p«a a fp

o Watch Video Solution

2. Represent the following system of linear
equations graphically:

3r+y—5=0,2x —y—95=0.


https://dl.doubtnut.com/l/_jIcpz7bX8cIB
https://dl.doubtnut.com/l/_lUBobjZig92v

From the graph, find the points where the

lines intersect y-axis.

° Watch Video Solution

3. The sum of 5th and 9th term of an A.P. is 72

and the sum of 7th and 12th terms is 97 . Find

that

° Watch Video Solution



https://dl.doubtnut.com/l/_lUBobjZig92v
https://dl.doubtnut.com/l/_tFMF1mXyC4Ov

4. If the points A(2,4) is equidistant from P
(3,8) and Q (-10,y), then find the value of y . Also

, find distance PQ.

o Watch Video Solution

5. Prove that the points ( — 3, 0), (1, — 3)
and (4, 1) are the vertices of an isosceles
right-angled triangle. Find the area of this

triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_jXkak0BWGQdN
https://dl.doubtnut.com/l/_YPeIxCKKIDw2

6. Two triangles ABC and DBC are on the same
base BC and on the same side of BC in which
LA = /D =90°.If CA and BD meet each

other at E,showthat AE. EC = BE. ED.

o Watch Video Solution

7. At one end A of a diameter AB of a circle of
radius 5 cm, tangent zay is drawn to the
circle. Find the length of the chord cd paralled

to XY and at a distantce 8 cm from A.


https://dl.doubtnut.com/l/_YPeIxCKKIDw2
https://dl.doubtnut.com/l/_w9r6jVJmvHrD
https://dl.doubtnut.com/l/_LAxMEJ056sSo

° Watch Video Solution

8. Two dice are thrown simultaneously. What is
the probability that the sum of the number
appearing on the dice is

(1) 72 (ii) a prime number? (iii) 17

o Watch Video Solution

9. Find the median of the following data.

Class 0-10 10-20 l 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-80 |90-100
Frequency 5 3 ‘ 4 ) 3! 4 7 9 7 8

| = |


https://dl.doubtnut.com/l/_LAxMEJ056sSo
https://dl.doubtnut.com/l/_dJ8haVa4dffk
https://dl.doubtnut.com/l/_obtEZ4LRNScp

I O Watch Video Solution I

1. An aeroplane takes 1 hour less for a journey

of 1200 km if its speed is increased by 100
km/hr from its usual speed. Find its usual

speed.

o Watch Video Solution



https://dl.doubtnut.com/l/_obtEZ4LRNScp
https://dl.doubtnut.com/l/_0sZlKIYQixub

2.Sides AB and AC and median AD of a triangle
ABC are respectively proportional to sides PQ

and PR and median PM of another triangle

PQR. Show that A ABCAPQR.

o Watch Video Solution

3. Draw an isosceles AABC with base

BC = 6cm. AB = AC and /A = 90°.

Draw another similar triangle whose sides are


https://dl.doubtnut.com/l/_wg8oBsVVUHC4
https://dl.doubtnut.com/l/_Mxfan8HBOdCK

4
B times of the sides of AABC. Justify your

construction.

° Watch Video Solution

4. If secl + tanf = p, prove  that

p° —1

sinf =
P +1

° Watch Video Solution

5. The angle of elevation of the top of a tower

at a point on the level ground is 30°. After


https://dl.doubtnut.com/l/_Mxfan8HBOdCK
https://dl.doubtnut.com/l/_csHPcxx5b3Kl
https://dl.doubtnut.com/l/_5tBX5NAZWofL

walking a distance of | 00 m towards the foot
of the tower along the horizontal line through
the foot of the tower on the same level
ground, the angle of elevation of the top of

the tower is 60°. Find the height of the tower.

o Watch Video Solution

6.In the given Fig, O is the centre of the circle
with
AC = 24em, AB = Tem and ZBOD = 90°

. Find the area of the shaded region [Take


https://dl.doubtnut.com/l/_5tBX5NAZWofL
https://dl.doubtnut.com/l/_GzUi6QeUz6sr

T =3.14]

o Watch Video Solution

7.The interior of the building is in the form of
a right circular cylinder of radius 7m and

height 6m, surmounted by a right circular


https://dl.doubtnut.com/l/_GzUi6QeUz6sr
https://dl.doubtnut.com/l/_FfNXNW9RLVnQ

cone of the same radius and of vertical angle
60°. Find the cost of painting the building

from inside at the rate of Rs 3O/m2

o Watch Video Solution

8. Find the mean, mode and median of the

following data:

Class 0-10 10-20 20-80 3040 | 40-50 50-60 60-70
Frequency i 10 18 30 20 12 3

5

o Watch Video Solution



https://dl.doubtnut.com/l/_FfNXNW9RLVnQ
https://dl.doubtnut.com/l/_yTMVbTRRGddN

